1 do

Yt s dyt - [pb]
[—2.6,—1.8] (7.371£0.137 £ 0.395) x10 2 (6 & 0.117 + 0.614) x 10
[—1.8, —1.35] 0.162 & 0.002 = 0.004 (1.32 + 0.014 + 0.098) x 102
[—1.35,—0.9] 0.231 & 0.002 = 0.006 (1.884 = 0.019 =+ 0.131) x 102
[—0.9, —0.45] 0.279 & 0.003 = 0.006 (2.274 + 0.022 + 0.157) x 102

[—0.45,0] 0.301 & 0.003 = 0.009 (2.452 + 0.023 + 0.172) x 102
[0,0.45] 0.304 & 0.003 & 0.011 (2.474 + 0.023 + 0.191) x 102
[0.45,0.9] 0.286 & 0.003 = 0.009 (2.326 =+ 0.021 =+ 0.163) x 102
0.9,1.35] 0.227 4 0.002 & 0.005 (1.844 + 0.018 =+ 0.131) x 102
[1.35,1.8] 0.164 £ 0.002 & 0.005 (1.331 = 0.014 + 0.103) x 102
[1.8,2.6]  (7.737 £0.135 + 0.328) x102  (6.298 + 0.116 = 0.561) x 10



